H & 0l & AHS B Ml A

20258 =0llah LB EA2AIZ

SA: SAHRAIED
M SN 2Y

el EAE RXES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CMZAIE D 1,341,103 4,237,174 A2,8%,071
CA2 2Y 1,321,620 4,216,152 A2,894,532
CAS SN2 710,000 1,686,352 A976,352
S At2te] 7,000 10,000 A3,000
206 M=l 7,000 10,000 A3,000
01 M=4l 7,000 10,000 23,000
OANEE=ES 7,000
AEEH |X2el 60,000 60,000 0
201 2egh=3| 60,000 60,000
2 35244l 60,000 60,000
O A2 FAl2e] 60,000
BMAIE 2 300,000 600,000 A300,000
401 Al HIZ S 0HbI 300,000 600,000 A.300,000
01 Al&H| 300,000 600,000 300,000
OBAMAIE 25 200,000
o= g=3A 100,000
Jeld|2eE i Ag Ol SN2 SE2stE2t 4 343,000 343,000
401 AIEHIZ R HYI 343,000 343,000
01 Al&H| 343,000 343,000
OZlelc|2agn AN OS2 SE2
at82t &4 343,000
M2 A8 611,620 2,529,800 1,918,180
EESs=EM2t =4 610,000 2,228,000 A1,618,000
201 er23| 10,000 27,000 A17,000
01 AtR2t2|HI 10,000 27,000 A17,000
O0Iskt 23 & A23H| 10,000
401 Al HIZ R 0HbI 200,000 1,814,000 A1,614,000
01 AlZ8| 200,000 1,800,000 1,600,000
oltssr=EAMat =d 200,000
405 AHAHE S 400,000 387,000 13,000
01 AL =S F=HI 190,000 237,000 247,000
O=AM Jat HHl & ARI 2 S 190,000
02 =A+ebl 210,000 150,000 60,000
Oa & 28-M 28 S 210,000
A EA2 ZHH2XE 1,620 1,800 A180
203 2=l 1,620 1,800 A180
03 A=A PR FZ| 1,620 1,800 A180
O&FAl =N 2P RAA 1,620
HY2AZHI(ZAZAILD) 19,483 21,022 1,539
J2HI(EAZAIE1) 19,483 21,022 A1,539
JI2ZH(EAZAIE D) 19,483 21,022 21,539
201 er2 3| 10,206 11,146 A940
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S MBAIE Dt

M AHHPIAHI(SMZAIED)
Sl JI2FHI(TAZAIED) (S &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
01 AtR2telbl 10,206 11,146 A940
oget=ZH| 5,832
o=gH| 4,374
202 044l 7,387 7,776 A389
01 =LHO LI 7,387 7,776 A389
OJl=g R0l 7,387
203 SR =L 1,890 2,100 A210
M FA2HLRFAI 1,890 2,100 2210
ORAMZ2EER=AH
157,500& « 128 1,890




